= 0 &

Ab e E A A

2N OHEERD
MY HHSAAH|(QHNEZ )
o9l J|=3| (cHe: &)
S - EB - ERI(SH) - AIRAY - BES o1&y plE-L! bl DS
eIrSEST 25,526,439 16,988,465 8,537,974
= 4,084,943 4,084,943 0
s 1,000,000 1,000,000 0
[ 2,108,575 1,389,725 718,850
2 18,332,921 10,513,797 7.819,124
HNSHAY|(HHEZDY) 13,850 7.120 6,730
pIEET 13,850 7.120 6,730
=2 13,850 7.120 6,730
201 LBr2o| 9,530 3,880 5,650
01 AlR 221 8,030 3,380 4,650
@EICIES=12] 4,650 0 4,650
0JI=2AIR Y| 50,00024+182! 900 0 900
OALRIID| L =SAEE 3,000,000 3,000 0 3,000
0JIEt=2H| 750,000 750 0 750
02 2Z2%| 1,500 500 1,000
ORWRI S 1,000,000 1,000 0 1,000
202 01| 4,320 3,240 1,080
01 2LH0iL] 4,320 3,240 1,080
O220{bI(2S0ib) 180,00021% 1 &t SH+62 1,080 0 1,080
N R 2 1,800 0 1,800
SAER2Y 1,800 0 1,800
ol 2o 1,800 0 1,800
203 PREA| 1,800 0 1,800
04 SNSALREA| 1,800 0 1,800
ORNSIYREE 300,000 62 1,800 0 1,800
THLroHE 22 8,149,932 1,157,736 6,992, 19
= 9,198 9,198 0
= 34,399 28,049 6,350
2 8,106,335 1,120,489 6,985,846
THLHOHRI 22| AR 984,343 1,016,036 ~31,693
= 9,198 9,198 0
= 32,999 25,799 7,200
= 942,146 981,039 /38,893
TLrorm 2|2 142,723 139,010 3,713
201 Lpr2o| 50,090 45,810 4,280
01 Al2221H] 46,490 42,210 4,280
OS2I (AR HRER) 8,000 +701+80A! 4,480 3,200 1,280
OZ0loHEEE 282 ¢ 3,000,000 3,000 0 3,000
203 PRE=A| 1,500 0 1,500
03 Al =Z LR A 1,500 0 1,500
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SA: QRS
X 2

XH 2l
CIol: THLIOFEDIR| [f=H

J

T
[pal
o
40
P
0

S - B - S9(3H) - NRAY - BES il &k pb-L" HimEE)
Ot EZ I AP FA 1,500,000 1,500 0 1,500
405 XHHFSH| 19,133 21,200 A2,067
01 TRILESFSHI 19,133 21,200 A2,067
OIS Al ST FE 1,195,800 *16CH 19,133 21,200 A2,067
THEHOHM AN EI A 2 A 6,360 5,400 960
201 LEt2 Y| 6,360 5,400 960
01 AtR2teltl 6,360 5,400 960
OSEHI(MHHHHMASARRR})
8,000& *721x604! 3,360 2,400 960
LHZAALK|A 410,800 480,800 270,000
401 AIEHIZL 2 0HY] 352,000 422,000 A70,000
01 Al&Hl 352,000 422,000 A70,000
O&IE19 XIS 01 X 0H
330,000,000 330,000 400,000 270,000
HE MY SZCIRRI SAIZEAIS 70,200 52,000 18,200
L= 21,100 15,600 5,500
i 49,100 36,400 12,700
401 A ZHIZLSOHY] 70,200 52,000 18,200
L= 21,100 15,600 5,500
i 49,100 36,400 12,700
01 Al&Hl 70,200 52,000 18,200
OXIs& CCTVAXRI(271) 40,200, 000& 40,200 40,000 200
= 12,100 12,000 100
i 28,100 28,000 100
O3=3t&4l giag 4x1 3,000,000&*1070 2 30,000 12,000 18,000
L= 9,000 3,600 5,400
i 21,000 8,400 12,600
=0 etdze] 29 245,866 235,903 9,963
101 @124d| 215,066 206,103 8,963
04 JIZtH2 2 EE = 215,066 206,103 8,963
oJ12a 73,2802 #4801x45Y 158,285 151,690 6,5%
OFxt==g 73,2802 *4821x10Y 35,175 33,709 1,466
o=z 193,460,000 *4 .5% 8,706 8,343 363
OHZEE 193,460,000 *3.495% 6,762 6,480 282
O YT 6,762,000&+6. 14% 416 398 18
(@NE=dock= 193,460,000& 0. %% 1,742 1,669 73
OATHEE 193,460,000 *2.057% 3,980 3,814 166
201 LB 30,800 29,800 1,000
01 AtR2teld| 30,800 29,800 1,000
OS=0| AL oY S22 MEH
200&*5,00001*3= 3,000 2,000 1,000
S50 MHeHMXIZ0l X& 74,297 70,526 3,771
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SN OEEZDY
M JoroE e

CHol: TYLroRETR| CHREZ (ol )
SN - B - SR(3H) - MITAY - BES o1&y plE-L HimE=E]

101 Q1214] 74,297 70,526 3,771

IR 74,297 70,526 3,771

O2=0| oEz2IR 08 74,207 70,526 3,771

SIS 73,2802 4801+ 152 52,762 50,564 2,198

0F=xIag 73,2802 480154 14,070 13,484 586

020012 66,882,00021%4 5% 3,008 2,883 125

WREEE 66,832, 00021+3.495% 2,336 2,239 97

0L OIET| Qo 2,336,00021+6. 14% 144 138 6

InEEE! 66,832,00021%0. %% 602 577 25

WS 66,832, 0002/%2.057% 1,375 641 734

OIXEoLE 2 3,700 2,000 1,700

= 3,700 2,000 1,700

201 Lk Y| 1,500 0 1,500

= 1,500 0 1,500

CEEE 1,500 0 1,500

OQIFFoIE E22E 1,500,002 1,500 0 1,500

= 1,500 0 1,500

301 YR 2,200 2,000 200

= 2,200 2,000 200

09 #AFAHIXIAS 2,200 2,000 200

OptE oI 2 2,200,002 2,200 2,000 200

= 2,200 2,000 200

OHSI2E BAF 5,950 8,700 72,750

= 1,400 2,250 A5

2 4,550 6,450 A1,900

oIEs2E AL 4,700 7,450 £2,750

= 1,400 2,250 A5

2 3,300 5,200 A1,900

201 Yyk2oy| 4,700 7,450 72,750

= 1,400 2,250 A5

2 3,300 5,200 A1,900

01 At22telt| 4,700 7,450 A2, 750

OQHESEHRE AT 4,700,0002! 4,700 7,450 £2,750

= 1,400 2,250 A5

2 3,300 5,200 A1,900

EEEE 7,159,639 133,000 7,026,639

DRLHY 2= AFHE LTS 7,026,639 0 7,026,639

201 Lk Y| 182,339 0 182,339

01 AFRZ2IH| 182,339 0 182,339

OXE MED U 42 170,000, 00024 170,000 0 170,000

OBPE%0 M 500, 000211174 S04 5,500 0 5,500

ONEH 25 M 20021534, 19404 6,839 0 6,839
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Za: Jjorm e
ool D2LHY HS R
SN - B - SR(3H) - MITAY - BES o1&y plE-L HimE=E]
202 Oft 5,500 0 5,500
01 =LH0H] 5,500 0 5,500
Oszassy 500,002+ 1 1 HS & 5,500 0 5,500
301 LprBFZ 6.838,800 0 6,838,800
01 AEIZZE2EZ 6.838,800 0 6,833,800
OMFE RS XIS 200,0002%34, 19491 6,838,800 0 6,833,800
DItel 2 211,844 202,704 9,140
= 3.745 3,745 0
= 10,444 10,444 0
2 197,655 188,515 9,140
oo DEER 9,044 82,904 9,140
2 3.745 3,745 0
= 4,944 4,944 0
2 83,355 74,215 9,140
2DISE L HINHIEY 2 15,400 6,260 9,140
201 B2 et| 15,400 6,260 9,140
01 AR 2eH| 15,400 6,260 9,140
OSXIgs MANRA oI 40,0002+30%? 1,200 600 600
OSXgls 840 S R 80,0002+200H 1,600 660 940
OSYHI(SXAS HIA22X)
8,0002%10021+341x42 9,600 3,200 6,400
OSXgis ARSI 2,000,00024%13] 2,000 1,300 700
Osxs 2E7Y 1,000,002 1,000 500 500
Tl % Kht ofl 167,906 165,776 2,130
SCHar Kol ol 22 167,906 165,776 2,130
OIHSBAPIRIT} Q12 37,666 %, 136 756,470
101 Q1248 34, 121 82,182 48,061
02 JIErE 24 34, 121 82,182 148,061
OFBHRIRITHARKIEH LTI HB2R) 30,724 82,182 ~51,458
0123 2,906,41024101x9% 26,158 69,754 ~43,5%6
0F 2 ZAlH| 140,00024%121+98 1,260 3,360 £2,100
0AIZtel 4 150,00024+1214984 1,350 3,600 £2,250
0S4HLLY 139,502+ 121498 1,256 3,348 £2,092
0IHEY 02t 0 720 AT20
0t Jh2 &I 9,998%4+101+70AI 2t 700 1,400 AT00
OHBHRIZITHAIRMIELH DI HIZ2R) 3,397 0 3,397
0122 2,906,41021+191+12 2,907 0 2,907
0 UZ 4| 140,002+ 121%1 2 140 0 140
RIS, 150,002+ 121+ 1 2 150 0 150
0SAHRLG 139,5002/%101+18) 140 0 140
0IHEY 60,0002 10112 60 0 60
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S - B - S9(3H) - NRAY - BES o1&y plE-L! HimEE)
202 (44| 0 3,600 A3,600
01 =LHOA LI 0 3,600 A3,600
OSHAA Moo =388, K= 03 0 3,600 23,600
204 2P F| 1,883 4,515 N2,632
02 MgExd| 1,445 3,465 A2,020
OZXZEZHI(AIZHEH LI IHBSRE)
144, 3703 *121+92 1,300 3,465 A2,165
OZXZEZHI(AIZHEH LI IHESRE)
144, 3702 %101% 12 145 0 145
03 EZYRZ| 438 1,050 AB12
OCUHeI g SHI(AlZHEH LI IHBSRE)
43,7503 +121+9F 3%4 1,050 AB56
OCHeI g SHI(AIZHEH LI IHBSRE)
43,7503+ 121x 13 44 0 44
304 ASRE=S 1,662 3,839 N2 77
02 =RIAZESE= 1,337 3,089 N1,752
O=VUALEHZ (AR LIIRB2)
36,004, 0002+3.495% 1,259 2,910 21,651
OLQ@AXIIEHS (AHEH LIIHBPH)
1,259,000 6. 14% 78 179 A101
04 SR (RINHL) 2ENNSEEESRLSS 325 750 A5
OLNEZEZ(AZHIEH AIIHBSRE)
36,004,000&+0.9% 325 750 N425
SHMHHZHRFA 130,240 71,640 58,600
201 L] 123,760 64,440 59,320
01 AR2teld| 123,760 64,440 59,320
OS2I (SUMHLRET) 8,000 *x221x604! 960 640 320
Oetdzte| At 2/€ 24| 19,000, 000& 19,000 18,000 1,000
Oxgad =8zl 29 8,000,000 8,000 0 8,000
Ot Aol 223 50,000, 000& 50,000 0 50,000
202 (44| 6,480 7,200 AT20
01 =LHOLI 6,480 7,200 AT20
OSUHoHME HRFAl 180,000& *3Q1x12& 6,480 7,200 AT20
Mol & Mt =7 == L&t 12,530,990 12,507,990 23,000
= 4,072,000 4,072,000 0
£ 1,000,000 1,000,000 0
= 1,212,100 1,189,600 22,500
i 6,246,890 6,246,390 500
KHoH O 2FAFS 11,193,000 11,170,000 23,000
= 4,072,000 4,072,000 0
= 1,000,000 1,000,000 0
= 1,212,100 1,189,600 22,500
i 4,908,900 4,908,400 500
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S MBI
Zad: ToH 2 X

chel: THGHOI ALY R
SA - B - SR(FH) - MRAY - BES Oll 2K JIEA Hws2
E402E 29 27,000 26,000 1,000
= 13,500 13,000 500
2 13,500 13,000 500
307 BIRH0IH 27,000 26,000 1,000
= 13,500 13,000 500
2 13,500 13,000 500
06 2E= 27,000 26,000 1,000
OB+0f PHS(AYTHLLII2EE)
27,000,002 27,000 26,000 1,000
= 13,500 13,000 500
2 13,500 13,000 500
EETURE 22,000 0 22,000
= 22,000 0 22,000
401 AlEBILSCHY| 22,000 0 22,000
= 22,000 0 22,000
01 Al&lH 22,000 0 22,000
02022 ZSHRA(LYH) 22,000,002 22,000 0 22,000
= 22,000 0 22,000
THOHI B X 2 FHI (0K R)-SZAK ZUABKI ZH| 520,000 1,000,000 520,000
2 760,000 500,000 260,000
= 228,000 150,000 78,000
2 532,000 350,000 82,000
401 AlEBILECHY| 520,000 1,000,000 520,000
2 760,000 500,000 260,000
= 228,000 150,000 78,000
2 532,000 350,000 82,000
01 Al&HI 513,700 993,700 520,000
OAIOIRIT SZAKI SRS BHIA
1,513,700, 0002 513,700 993,700 520,000
2 760,000 500,000 260,000
= 228,000 150,000 78,000
2 525,700 343,700 82,000
AEXIT SBAX SV ZHIA 100,000 300,000 200,000
2 50,000 150,000 £100,000
= 15,000 45,000 £30,000
2 35,000 105,000 A70,000
401 AlEBILECHY| 100,000 300,000 £200,000
2 50,000 150,000 A100,000
= 15,000 45,000 £30,000
2 35,000 105,000 A70,000
01 Al&lHl 100,000 300,000 £200,000
OAE SBAX SV YA
100,000, 0002 100,000 300,000 200,000
2 50,000 150,000 £100,000
= 15,000 45,000 £30,000
2 35,000 105,000 AT70,000
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SN AEETY
X

HE: ThoH o

2l THOHOIZ AL (e &)
S - BB - B9I(31) - HIRAY - BAS o1&y plE-L! HlZE2
X+ SZAN SLUAEXN S FHIA 140,000 460,000 /320,000

= 70,000 230,000 A160,000

= 21,000 69,000 48,000

s 49,000 161,000 A112,000

401 AZHIZLSOHY] 140,000 460,000 A320,000

= 70,000 230,000 A160,000

= 21,000 69,000 48,000

i 49,000 161,000 A112,000

01 Al&HI 140,000 460,000 A320,000
OUE SZAK SU/ASXS ZHIAMS

140,000, 000& 140,000 460,000 A320,000

= 70,000 230,000 A160,000

L= 21,000 69,000 248,000

s 49,000 161,000 A112,000

A0LE AIEI 2tel 4,074,438 2,573,639 1,500,799

= 851,632 161,632 690,000

i 3,222,806 2,412,007 810,799

AOIE AIEI 24 3,481,638 1,980,839 1,500,799

L= 826,511 136,511 690,000

i 2,655,127 1,844,328 810,799

CCTV 2tHIdHe =2 1,112,638 1,111,839 799

L= 136,511 136,511 0

i 976,127 975,328 799

202 (44| 4,800 12,000 AT,200

01 =LHOAHI 4,800 12,000 AT,200

OZMAEHE =2 100,000 401+ 12& 4,800 12,000 27,200

304 HSRESS 94,847 86,848 7,999

01 H=SRE= 64,906 53,932 10,974

OCCTV2tHIE =8Itis fE= 64,906 53,932 10,974

0=z 666,000,000& *4.5% 29,970 18,996 10,974

02 =2oIHAEES 17,660 15,659 2,001

OCCTVZHIE SpIHUEs=s RE= 17,660 15,659 2,001

0= ES 479,342,000 3 *3.495% 16,754 14,753 2,001

04 SR (RINHL) 2ENNSEEESRLSS 12,281 17,257 N4,976

OCCTVZ2HHIE n&E L ol 288 FE= 12,281 17,257 AN4,976

0&HHEE 266,000,000 3. 188% 8,481 13,457 N4,976

AMIEEZAIEY SEEUS ALY 1,200,000 0 1,200,000

= 600,000 0 600,000

i 600,000 0 600,000

401 A ZHIZLSOHY] 1,200,000 0 1,200,000

= 600,000 0 600,000

i 600,000 0 600,000

01 Al&HI 1,200,000 0 1,200,000
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OFMEZI ]}

o=

AOLE AIEI 2tel

Tl ADIE AIE X4 EERE))
2A - - HR(SH]) - NISAY - BES 04| &roH J|EH Hns2
OADIE GAHY SSEHE AIL(HEA)
1,200,000,0002 1,200,000 0 1,200,000
= 600,000 0 600,000
2 600,000 0 600,000
ADIEZAINE 28 300,000 0 300,000
= 90,000 0 90,000
2 210,000 0 210,000
401 AlEHIZL ST 300,000 0 300,000
= 90,000 0 90,000
2 210,000 0 210,000
01 AlZH] 300,000 0 300,000
OADIEZADE 48 2 300,000,000 300,000 0 300,000
= 90,000 0 90,000
2 210,000 0 210,000
eSS (o AL 342,179 340,000 2,179
ERNE 2,179 0 2,179
EE2 pEa 2,179 0 2,179
802 BHe+2D|E} 2,179 0 2,179
02 Al - CHE X283 2,179 0 2,179
02021 =QIHIIAIL 29 SX22lHl XA
O] Kpe Ay oH 3,150&! 4 0 4
020211 DIgt9| EHA5H THISIRAMY XAl
(OIX &) 2,175,000 2,175 0 2,175
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